



Proceedings of the Conference

Current Scenario in Pure and Applied Mathematics

December 22-23, 2016

Kongunadu Arts and Science College (Autonomous)

Coimbatore, Tamil Nadu, India

Research Article

Exponential Stability Analysis of Difference Equation for Impulsive System

Elizabeth S. and Nirmal Veena S.*

Department of Mathematics, Auxilium College, Gandhi Nagar, Vellore 632006, Tamil Nadu, India

*Corresponding author: nirmalveena1510@gmail.com

Abstract. In this paper, we study the exponential stability of impulsive difference equations with exponential decay and the uniformity of the stability is obtained by using Lyapunov functions. Theorems on exponential and uniform exponential stability are obtained, which shows that certain impulsive perturbations may make unstable systems exponentially stable.

Keywords. Difference equation; Uniform exponential stability; Lyapunov functions; Impulsive system

MSC. 11-xx

Received: January 15, 2017

Accepted: March 11, 2017

Copyright © 2017 Elizabeth S. and Nirmal Veena S.. *This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.*

1. Introduction

Impulsive difference equation systems are an excellent source of models to simulate processes and phenomena observed in control theory, physics, chemistry, population dynamics, biotechnology, industrial robotics, economics, etc. In recent years, impulsive difference equation

systems have become a very active area of research. Many classical results have been extended to impulsive systems. Recently, impulsive systems with exponential decay play a frequent role in engineering, biology, economy, and other disciplines, so it is necessary to study the properties of these systems. However, not much has been developed in the direction of the stability theory of impulsive difference equation systems. There are a number of difficulties that one must face in developing the corresponding theory of impulsive functional differential systems with exponential decay. Therefore, it is an interesting and complicated problem to study the stability theory for impulsive difference equation systems with exponential decay. Research have been done, by using Lyapunov functions and Razumikhin techniques, some Razumikhin-type theorems on stability and uniform stability are obtained for a class of impulsive functional differential systems with infinite delays.

On the other hand, several papers devoted to the study of exponential stability of impulsive delay systems have appeared during the past years. In [7], the authors have investigated exponential stability of impulsive systems with finite delay by using the method of Lyapunov functions and Razumikhin techniques. In [13], the authors have studied exponential stability, by using fundamental function and inequalities, for linear impulsive differential equations. However, very little is known about the exponential stability of impulsive difference equation systems. In this paper, we consider impulsive difference equation systems involving exponential decay. By using Lyapunov functions, we establish uniform exponential stability of the impulsive system.

This paper is organized as follows. In section 2, we give some important definitions, system formulation and assumptions. Section 3, we obtain the exponential stability behavior of the homogeneous impulsive difference equation involving decay and the uniform exponential stability by suitable assumptions of difference system. Our conclusions are in Section 4.

2. Preliminaries

Basic Definitions

The zero solution of a system is said to be:

Stable (S) if given $\varepsilon > 0$ and $n_0 = 0$ there exists $\delta = \delta(\varepsilon, n_0)$ such that $\|x_0\| < \delta$ implies $\|x(n, n_0, x_0)\| < \varepsilon$ for all $n = n_0$.

Uniformly stable (US) if δ may be chosen independent of n_0 , **unstable** if it is not stable.

Attracting (A) if there exists $\mu = \mu(n_0)$ such that $\|x_0\| < \mu$ implies

$$\lim_{n \rightarrow \infty} x(n, n_0, x_0) = 0.$$

Uniformly Attracting (UA) if the choice of μ is independent of n_0 . The condition for **uniform activity** may be paraphrased by saying that there exists $\mu > 0$ such that for every ε and n_0

there exists $N = N(\varepsilon)$ independent of n_0 such that

$$\|x(n, n_0, x_0)\| < \varepsilon$$

for all $n \geq n_0 + N$ whenever $\|x_0\| < \mu$.

Asymptotically stable (AS) if it is stable and attracting, and **uniformly asymptotically stable (UAS)** if it is uniformly stable and uniformly attracting.

Exponentially stable (ES) if there exist $\delta > 0$, $M > 0$, and $\eta \in (0, 1)$ such that

$$\|x(n, n_0, x_0)\| < M\|x_0\|\eta^{n-n_0}$$

whenever $\|x_0 - x^*\| < \delta$.

And is **uniformly exponentially stable** if M is independent of n_0 .

A solution $x(n, n_0, x_0)$ is bounded if for some positive constant M , $\|x(n, n_0, x_0)\| = M$ for all $n = n_0$, where M may depend on each solution.

Mathematical Formulation

To begin with, we introduce some assumptions.

Let B be a Banach space, we will use $|\cdot|$ for the norm in this space and for the induced norm in the space of bounded operators in B , while $\|\cdot\|$ will be used for the operator norm in some space of function or sequence.

Let us consider the sequence $\alpha = \{\alpha_k | k = 1, 2, \dots\}$ with $\|\alpha\| = \sup_{k \geq 1} |\alpha_k| < \infty$, and $\alpha = \{\alpha_k | k = 1, 2, \dots\} \subset B$ with $\|\alpha\| = \sum_{k=1}^{\infty} |\alpha|^p$, $1 \leq p \leq \infty$ [3].

In order to clarify the concept of exponential decay, we introduce the weighted x_k spaces as follows. For $x = (x_1, x_2, x_3, \dots, x_s) \in B^s$. For a positive integer, B^s denotes the s -dimensional Euclidean space. Suppose u_k is a sequence on B^s , or $t \geq 0$ and for $1 \leq q < \infty$ and set

$$\|u_k\| = \left(\sum_{\alpha=1}^{\infty} |u_k(\alpha) e^{t|\alpha|^q}|^q \right)^{\frac{1}{q}}.$$

For $t \geq 0$, let $\|u\|$ be the supremum of the sequence $|u_k(\alpha) e^{t|\alpha|^q}|$ and $\alpha \in B^s$.

System Formulation

Let $\{x_k | k = 1, 2, 3, \dots\}$ and $\{\gamma_k | k = 1, 2, 3, \dots\}$ be sequences in B and $A_k : B \rightarrow B$ be a bounded operator for $k = 0, 1, 2, 3, \dots$. Now consider a class of difference equations in R^k shown as follows

$$x_{k+1} = A_k x_k, \quad k \geq 0 \tag{2.1}$$

where $x^* \in R^k$ is the unique equilibrium point and $T : R^k \rightarrow R^k$ is a continuous differentiable nonlinear operator in R^k , and

$$\lim_{\|x\| \rightarrow \infty} \sup \|T'(x)\| = \lambda < 1$$

holds for a positive constant λ , $0 < \lambda < 1$. The related non homogenous difference equation

$$x_{k+1} = A_k x_k + \gamma_{k+1}, \quad k \geq 0 \tag{2.2}$$

and the homogeneous difference equation with an arbitrary initial point n_0 will be [9]

$$x_{k+1} = A_k x_k, \quad k \geq n_0, \quad x_{n_0} = I \tag{2.3}$$

where I is the identity operator which is called as **fundamental function** of any of the equation (2.1) and (2.2).

3. Main Results

Our main problem is to find the behavior of the exponential stability behavior, which we can deduce by the theorem, and also the impulse ratio is considered between the systems of difference equation. Let us recall some same kind of recent results [2, 10, 13].

Lemma 3.1. *Let $\psi_{k,n}$ be a fundamental function of (2.1), then the solution of (2.2) can be presented as*

$$x_k = \psi_{k,0} x_0 + \sum_{s=0}^{k-1} \psi_{k,s+1} \gamma_{s+1} \tag{3.1}$$

Lemma 3.2 ([5]). *Suppose $\sup_k |A_k| < \infty$*

- (i) *Let $1 \leq q \leq \infty$. Then (2.1) is exponentially stable if and only if for any $\{\gamma_k\} \in I^q$, the solution of (2.2), with $x_0 = 0$, belongs to the same space $\{x_k\} \in I^q$.*
- (ii) *If $1 \leq q \leq \infty$ and the solution of (2.2), with $x_0 = 0$, is bounded $\{x_k\} \in I^\infty$ for any $\{\gamma_k\} \in I^q$ then (2.1) is exponentially stable.*
- (iii) *If the solution of (2.2), with $x_0 = 0$, is bounded for any $\{\gamma_k\} \in I^1$ then (2.1) is uniformly stable.*

Theorem 3.3. *If (2.1) is a fundamental function, then*

- (i) *If $\{\gamma_k\} \in I^\infty$, then the solution is bounded.*
- (ii) *If $\lim_{k \rightarrow \infty} \gamma_k = \infty$, then the solution of $\{x_k\}$ of (2.2) satisfies $\lim_{k \rightarrow \infty} x_k = 0$*
- (iii) *If there exist $M_0 > 0$, $\lambda > 0$ such that $|\gamma_k| \leq M_0 e^{-\lambda k}$, then there exist $M_1 > 0$, $\eta_1 > 0$ such that the solution $\{x_k\}$ of (2.2) satisfies $|x_k| \leq M_1 e^{-\eta_1 k}$, which leads the exponential stability.*

Proof. Since $\psi_{k,n}$ is the fundamental solution of the problem (2.1), $\psi_{k,n} x_n$ is a solution of (2.3) for any $x_n \in B$. Exponential stability of the equation (2.1) implies that $|\psi_{k,l} x_k| \leq M e^{-\eta(n-k)} |x_k|$ for any $x_k \in B$. Thus the fundamental function has the exponential estimation

$$|\psi_{k,n}| \leq M e^{-\eta(k-n)} \quad \text{for any } n = 0, 1, 2, \dots, k \tag{3.2}$$

(i): The solution $\{x_k\}$ of (2.2) satisfies (3.1), therefore

$$|x_k| \leq |\psi_{k,0}| \cdot |x_0| + \sum_{s=0}^{k-1} |\psi_{k,s+1}| \cdot |\gamma_{s+1}| \tag{3.3}$$

Since $\{\gamma_k\} \in I^\infty$ and estimation (3.3) holds, then we get

$$\begin{aligned} |x_k| &\leq M e^{-\eta k} |x_0| + \sum_{s=0}^{k-1} M e^{-\eta(k-n-1)} |\gamma_{s+1}| \\ &< M \left(|x_0| + \|\{\gamma_k\}\| \cdot \sum_{s=0}^{\infty} e^{-\eta s} \right) \\ &= M \left(|x_0| + \frac{\|\{\gamma_k\}\|}{1 - e^{-\eta}} \right). \end{aligned}$$

This is true for any positive integer k . Thus any solution $\{x_k\}$ of (2.2) is bounded.

(ii): Let us pick any $x_0 \in B$, any $\epsilon > 0$. By the assumption of (2.1), the sequence $\{\gamma_k\}$ converges to zero solution, which implies that $\{\gamma_k\} \in I^\infty$ and there exists $k_1 > 0$ such that

$$|\gamma_k| < \epsilon \frac{1 - e^{-\eta}}{3M} \text{ for any } k \geq k_1.$$

Since $e^{-\eta(k-n_1-1)} \rightarrow 0$ as $k \rightarrow \infty$, there exists a positive integer k_2 such that

$$e^{-\eta(k-k_1-1)} < \epsilon \frac{1 - e^{-\eta}}{3M \|\{\gamma_k\}\|} \text{ for any } k \geq k_2.$$

Finally, for a given x_0 we can always find positive integer k_3 such that

$$e^{-\eta k} < \frac{\epsilon}{3M|x_0|} \text{ for any } k \geq k_3.$$

Let us suppose that $k > \max\{k_1, k_2, k_3\}$. Since the solution $\{x_k\}$ of (2.2) satisfies (3.1), we get

$$\begin{aligned} |x_k| &\leq |\psi_{k,0}| \cdot |x_0| + \sum_{s=0}^{k-1} |\psi_{k,s+1}| \cdot |\gamma_{s+1}| \\ &= |\psi_{k,0}| \cdot |x_0| + \sum_{s=0}^{k_1} |\psi_{k,s+1}| \cdot |\gamma_{s+1}| + \sum_{s=k_1+1}^{k-1} |\psi_{k,s+1}| \cdot |\gamma_{s+1}|. \end{aligned}$$

Applying (3.3) in the above equation, we get

$$|x_k| \leq M e^{-\eta k} |x_0| + \sum_{s=0}^{k_1} M e^{-\eta(k-s-1)} |\gamma_{s+1}| + \sum_{s=k_1+1}^{k-1} M e^{-\eta(k-s-1)} |\gamma_{s+1}|. \tag{3.4}$$

Let us consider each component of the sum (3.3). Since $k \geq k_3$, we obtain

$$M e^{-\eta k} |x_0| < M \frac{\epsilon}{3M|x_0|} |x_0| = \frac{\epsilon}{3}.$$

If $k \geq k_2$ implies,

$$\begin{aligned} \sum_{s=0}^{k_1} M e^{-\eta(k-s-1)} |\gamma_{s+1}| &= M e^{\eta \|\{\gamma_k\}\|} \sum_{s=0}^{k_1} e^{-\eta(k-s)} \\ &= M e^{\eta \|\{\gamma_k\}\|} \sum_{s=k-k_1}^k e^{-\eta s} \\ &< M e^{\eta \|\{\gamma_k\}\|} \sum_{s=k-k_1}^{\infty} e^{-\eta s} \\ &< M e^{\eta \|\{\gamma_k\}\|} e^{-\eta(k-k_1)} \frac{1}{1 - e^{-\eta}} \end{aligned}$$

$$\begin{aligned}
 &< M\|\{\gamma_k\}\|e^{-\eta(k-k_1-1)}\frac{1}{1-e^{-\eta}} \\
 &< M\|\{\gamma_k\}\|\epsilon\frac{1-e^{-\eta}}{3M\|\{\gamma_k\}\|}\frac{1}{1-e^{-\eta}} \\
 &= \frac{\epsilon}{3}.
 \end{aligned}$$

Finally, $k \geq K_1$ provides,

$$\begin{aligned}
 \sum_{s=k_1+1}^{k-1} Me^{-\eta(k-s)}|\gamma_{s+1}| &< \sum_{s=k_1+1}^{k-1} Me^{-\eta(k-s)}\epsilon\frac{1-e^{-\eta}}{3M} \\
 &= \frac{\epsilon}{3}(1-e^{-\eta})\sum_{s=k_1+1}^{k-1} e^{-\eta(k-s-1)} \\
 &= \frac{\epsilon}{3}(1-e^{-\eta})\sum_{s=k_1+1}^{k-1} e^{-\eta(k-s-1)} \\
 &= \frac{\epsilon}{3}(1-e^{-\eta})\sum_{s=0}^{k-k_1} e^{-\eta s} \\
 &< \frac{\epsilon}{3}(1-e^{-\eta})\sum_{s=0}^{k_1} e^{-\eta s} \\
 &< \frac{\epsilon}{3}(1-e^{-\eta})\frac{1}{1-e^{-\eta}} \\
 &= \frac{\epsilon}{3}.
 \end{aligned}$$

From (3.4), we can get the following,

$$\begin{aligned}
 |x_k| &\leq Me^{-\eta k}|x_0| + \sum_{s=0}^{k_1} Me^{-\eta(k-s-1)}|\gamma_{s+1}| + \sum_{s=k_1+1}^{k-1} Me^{-\eta(k-s-1)}|\gamma_{s+1}| \\
 &< \frac{\epsilon}{3} + \frac{\epsilon}{3} + \frac{\epsilon}{3} = \epsilon.
 \end{aligned}$$

For any $k > \max\{k_1, k_2, k_3\}$ and $\lim_{k \rightarrow \infty} x_k = 0$.

(iii): The solution $\{x_k\}$ of the equation (2.1) satisfies (3.1) therefore

$$|x_k| \leq |\psi_{k,0}| \cdot |x_0| + \sum_{s=0}^{k-1} |\psi_{k,s+1}| \cdot |\gamma_{s+1}|.$$

The assumption of Part 3 of this Theorem and (3.3) together impose,

$$\begin{aligned}
 |x_k| &\leq Me^{-\eta k}|x_0| + \sum_{s=0}^{k-1} Me^{-\eta(k-s-1)}M_0e^{-\lambda(s+1)} \\
 &\leq Me^{-\eta k}|x_0| + MM_0e^{\eta-\lambda}e^{-\eta k}\sum_{s=0}^{k-1} e^{s(\eta-\lambda)}
 \end{aligned}$$

without loss of generality we can assume that $\eta \neq \lambda$.

Therefore,

$$\sum_{s=0}^{k-1} e^{s(\eta-\lambda)} = \frac{e^{k(\eta-\lambda)} - 1}{e^{(\eta-\lambda)} - 1}.$$

So,

$$\begin{aligned} M e^{-\eta k} |x_0| + M M_0 e^{\eta-\lambda} e^{-\eta k} \sum_{s=0}^{k-1} e^{s(\eta-\lambda)} &= M e^{-\eta k} |x_0| + M M_0 e^{\eta-\lambda} e^{-\eta k} \frac{e^{k(\eta-\lambda)} - 1}{e^{(\eta-\lambda)} - 1} \\ &\leq M e^{-\eta k} |x_0| + M M_0 e^{\eta-\lambda} e^{-\eta k} \frac{e^{k(\eta-\lambda)}}{e^{(\eta-\lambda)} - 1} \\ &\leq M e^{-\eta k} |x_0| + M M_0 \frac{e^{\eta-\lambda}}{e^{(\eta-\lambda)} - 1} e^{-\lambda k}. \end{aligned}$$

So, for $\eta_1 = \min\{\eta, \lambda\}$ and $N_3 = M|x_0| + M M_0 \frac{e^{\eta-\lambda}}{e^{(\eta-\lambda)} - 1}$.

This implies,

$$|x_k| \leq M e^{-\eta k} |x_0| + M M_0 \frac{e^{\eta-\lambda}}{e^{(\eta-\lambda)} - 1} e^{-\lambda k} \tag{3.5}$$

for any $k = 0, 1, 2, 3, \dots$ and hence the solution of (2.1) is exponential stable.

This completes the proof of the theorem. □

Theorem 3.4. Let a be a constant with $a > 1$. Let $B \subset \mathbb{R}^k$ be an open set containing the origin, and let $V(x_k) : \mathbb{R}^k \rightarrow \mathbb{R}$ be a given function satisfying

$$\lambda_1 \|x_k\|^p \leq V(x_k) \leq \lambda_2 \|x_k\|^q \tag{3.6}$$

and

$$\Delta V(x_k) \leq -\lambda_3 \|x_k\|^r + N a^{-\delta n} \tag{3.7}$$

for some positive constants $\lambda_1, \lambda_2, \lambda_3, p, q, r, k$ and δ . Moreover, if for some positive constants α and γ ,

$$0 < \frac{\lambda_3}{\lambda_2^{r/q}} \leq \alpha < 1 \tag{3.8}$$

such that

$$V(x_k) - V^{r/q}(x_k) \leq \gamma \alpha^{-\delta n} \tag{3.9}$$

with

$$\delta \geq -\frac{\ln(1 - \lambda_3/\lambda_2^{r/q})}{\ln \alpha} \tag{3.10}$$

then the zero solution of (2.2) is uniformly exponentially stable.

Proof. First note that in view of (3.9), the constant δ ; which is given by (3.10) is positive. Taking the difference of the function $V(x_k) a^{M(k-n_0)}$ with $M = -\frac{\ln(1-\lambda_3/\lambda_2^{r/q})}{\ln \alpha}$ we have

$$\Delta(V(x_k) a^{M(k-n_0)}) = [V(x_{k+1}) a^M - V(x_k)] a^{M(k-n_0)}.$$

For $x_k \in B$, using (3.7) we get

$$\Delta(V(x_k) a^{M(k-n_0)}) = [-\lambda_3 \|x_k\|^r a^M + V(x_k) a^M + N a^{-\delta k} a^M - V(x_k)] a^{M(k-n_0)}. \tag{3.11}$$

From condition (3.6) we have $\|x_k\|^q \geq V(x_k)/\lambda_2$. Consequently, $-\|x_k\|^r \leq -\left[\frac{V(x_k)}{\lambda_2}\right]^{r/q}$.

Thus, inequality (3.11) becomes

$$\begin{aligned} \Delta(V(x_k)a^{M(k-n_0)}) &\leq [-(\lambda_3/\lambda_2^{r/q})V^{r/q}(x_k)a^M + V(x_k)a^M + Na^{-\delta k}a^M - V(x_k)]a^{M(k-n_0)} \\ &= [-(\lambda_3/\lambda_2^{r/q})V^{r/q}(x_k)a^M + (a^M - 1)V(x_k) + Na^{-\delta k}a^M - V(x_k)]a^{M(k-n_0)}. \end{aligned}$$

Since $M = -\frac{\ln(1-\lambda_3/\lambda_2^{r/q})}{\ln a}$, we have $a^M - 1 = a^M(\lambda_3/\lambda_2^{r/q})$. Thus, the above inequality reduces to

$$\Delta(V(x_k)a^{M(k-n_0)}) \leq [V(x_k) - V^{r/q}(x_k)](a^M - 1) + Na^{-\delta k}a^M]a^{M(k-n_0)}. \tag{3.12}$$

By invoking condition (3.9), inequality (3.12) takes the form

$$\begin{aligned} \Delta(V(x_k)a^{M(k-n_0)}) &\leq [\gamma(a^M - 1) + Na^M]a^{-\delta k}a^{M(k-n_0)} \\ &\leq [\gamma(a^M - 1) + Na^M]a^{-\delta k + \delta n_0}a^{M(k-n_0)} \leq La^{(M-\delta)(k-n_0)} \end{aligned}$$

where $L = \gamma(a^M - 1) + Na^M$. Summing the above inequality from n_0 to $k - 1$ we obtain,

$$\begin{aligned} V(x_k)a^{M(k-n_0)} - V(x_{n_0}) &\leq La^{-(M-\delta)n_0} \sum_{s=n_0}^{k-1} a^{(M-\delta)s} \\ &= \frac{La^{-(M-\delta)n_0}}{a^{(M-\delta)} - 1} [a^{(M-\delta)k} - a^{(M-\delta)n_0}] \\ &= \frac{L}{a^{(M-\delta)} - 1} [a^{(M-\delta)(k-n_0)} - 1]. \end{aligned}$$

Since $M < \delta$ and $V(x_{n_0}) \leq \lambda_2 \|x_0\|^q$, the above inequality reduces to

$$V(x_k)a^{M(k-n_0)} \leq \lambda_2 \|x_0\|^q + \frac{L}{1 - a^{(M-\delta)}}.$$

Set $B(\|x_0\|) = \lambda_2 \|x_0\|^q + \frac{L}{1 - a^{(M-\delta)}}$. Then

$$V(x_k) \leq B(\|x_0\|)a^{-M(k-n_0)}. \tag{3.13}$$

From condition (3.6), we have $\lambda_1 \|x\|^p \leq V(x_k)$, which implies that

$$\|x_k\| \leq \left\{ \frac{V(x_k)}{\lambda_1} \right\}^{\frac{1}{p}}. \tag{3.14}$$

Combining (3.13) and (3.14), we arrive at

$$\|x_k\| \leq \left\{ \frac{B(\|x_0\|)}{\lambda_1} \right\}^{\frac{1}{p}} a^{-M/p(k-n_0)}.$$

Hence, the zero solution of (2.2) is uniformly exponentially stable. □

4. Conclusion

In this paper, a impulsive difference equation system with exponential decay has been considered, and our objective of attaining the behavior of exponential stability has been obtained by establishing some new necessary conditions, to the system of impulsive difference equations with distributed decays. In this paper special Lyapunov function was utilized to obtain the desired uniform stability for the system of impulsive difference equations.

Competing Interests

The authors declare that they have no competing interests.

Authors' Contributions

All the authors contributed significantly in writing this article. The authors read and approved the final manuscript.

References

- [1] R.P. Agarwal and P.J.Y. Wong, *Advanced Topics in Difference Equations*, Kluwer Academic Publishers (1997).
- [2] R.P. Agarwal and D. O'Regan, Difference equations in abstract spaces, *J. Austral. Math. Soc. (Series A)* **64** (1998), 277 – 284.
- [3] S. Elaydi, *An Introduction to Difference Equations*, 3rd edition, Springer–Verlag, New York (2004).
- [4] L. Gupta and M.M. Jin, Global asymptotic stability of discrete-time analog neural networks, *IEEE Trans. Neural Netw.* **7** (6) (1996), 1024 – 1031.
- [5] Z. Jiang and Y. Wang, A converse Lyapunov theorem for discrete-time systems with disturbances, *Systems and Control Letters* **45** (2002), 49 – 58.
- [6] C.M. Kellett and A.R. Teel, On robustness of stability and Lyapunov functions for discontinuous difference equations, in *Proc. of the 41st IEEE Conference on Decision and Control*, Las Vegas, Nevada, December 2002.
- [7] B. Liu, X. Liu, K. Teo and Q. Wang, Razumikhin-type theorems on exponential stability of impulsive delay systems, *IMA Journal of Applied Mathematics* **71** (2006), 47 – 61.
- [8] N. Linh and V. Phat, Exponential stability of nonlinear time-varying differential equations and applications, *Electronic Journal of Differential Equations* **2001** (34) (2001), 1 – 13.
- [9] P.M. Pardalos and V. Yatsenko, *Optimization and Control of Bilinear Systems: Theory, Algorithms and Applications*, Springer, Berlin (2008).
- [10] Q. Zhang and Z. Zhou, Global attractivity of a nonautonomous discrete logistic model, *Hokkaido Math. J.* **29** (2000), 37 – 44.
- [11] Y. Raffoul, General theorems for stability and boundedness for nonlinear functional discrete systems, *Journal of Mathematical Analysis and Applications* **279** (2) (2003), 639 – 650.
- [12] S.H. Strogatz, *Nonlinear Dynamics and Chaos with Applications to Physics, Biology, Chemistry, and Engineering*, Perseus Books, New York (1994).
- [13] R.E. Mickens, *Difference Equations Theory, Applications and Advance Topics*, 3rd ed., CRC Press, USA (2015).
- [14] Q. Wang and X. Liu, Exponential stability for impulsive delay differential equations by Razumikhin method, *Journal of Mathematical Analysis and Application* **309** (2005), 462 – 473.